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QID : 601 - Which among these is a trait of adolescence?
geR FuQ 6R6G 6X66INR IR Gél 266 ?
Options:

1) acquisition of fine motor skills

QO 60610, QACIGHR FR8

2) improvement of hand-eye coordination
2¢-0Q A264I6 Q Q6

3) rapid physical growth

Q0 §IRqIe Q8

4) attainment of new motor skills

Q00 606110, @VIgER QIam

Correct Answer: 3) rapid physical growth
Q0 dldaie Q8

Candidate Answer: 3) rapid physical growth
Q0 dldaie Q8

QID : 602 - The hallmark of which stage is the 'search for identity'?

QR0 66lIRI" 606! 6QITINQ 636 266 ?
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http://202.191.140.165/otetmay19/ccgsa_sep19/process.php?appid=12b748051c486160c4e32c1ca0be04e5&q=NDVkOWQyMzMxNzFlZTA4ODliNTk0ZjZjMTg0N2FkZDh8MTkwMTAwMTcxNDF8MTMwODIwMTk=
http://202.191.140.165/otetmay19/ccgsa_sep19/challenge_list.php?appid=12b748051c486160c4e32c1ca0be04e5&q=NDVkOWQyMzMxNzFlZTA4ODliNTk0ZjZjMTg0N2FkZDh8MTkwMTAwMTcxNDF8MTMwODIwMTk=
http://202.191.140.165/otetmay19/ccgsa_sep19/challenge.php?appid=12b748051c486160c4e32c1ca0be04e5&q=NDVkOWQyMzMxNzFlZTA4ODliNTk0ZjZjMTg0N2FkZDh8MTkwMTAwMTcxNDF8MTMwODIwMTk=

Options:

1) Adolescence

6@66IQ

2) Infancy

eéleQiagl

3) Pre-adolescence
diQ-6a6slaueg

4) Pre-school childhood
dIQ-4RL, 681610

Correct Answer: 1) Adolescence
606411

Candidate Answer: 4) Pre-school childhood
JIQ-R0YIR, 68161Q

QID : 603 - Which one of these change does NOT occur during adolescence?

IGPR FRIQ 606 AAQAR 6X6EIAINYIER 621RRRIN ?
Options:

1) Change in body shape
R ARIQER AR

2) Increase in height
R0l 98

3) Voice change

qa daeee

4) growth of motor skills
6061140, OROIGER QF

Correct Answer: 4) growth of motor skills
606114, QFRIgeR Q8

Candidate Answer: 3) Voice change
qe daeae

QID : 604 - The changes which occur at adolescence are controlled by:

6@66IRIRYIER 6202jQl JQRERYPR RIRIQIRI PAZE 62IReIg ?
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Options:

1) hormones
UEAIRY

2) culture
age

3) environment
a[alaaly)

4) heredity
Q°dllgeel

Correct Answer: 1) hormones
26¢110d

Candidate Answer: 4) heredity
Q6IQRe

QID : 605 - Which gland in adolescents secretes growth hormone?

6m66IRgI6R 696 g7 98 2aseIe SRS SR2IN ?
Options:

1) Thyroid gland
RS 9p

2) Adrenals
2leenind

3) Pituitary gland
dgaeial gg

4) Pineal

deaIR

Correct Answer: 3) Pituitary gland
dgacian g9

Candidate Answer: 2) Adrenals
2leeeimd

QID : 606 - Needs that are associated with socio-cultural environment of an individual are called:

@66 ANIQ AARR-AGER AR6RE AQ AMAE AREIROIGRY @6l QRIAN ?
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Options:

1) Primary needs
glafie 2lesieoigee
2) Secondary needs
30109 IesiRoIgee
3) Tertiary needs
QO1AR 2QEIRGIGER
4) Physiological needs
SIRQIR AQREROIGER

Correct Answer: 2) Secondary needs
9910 2IQEIRRIgee

Candidate Answer: 4) Physiological needs
SIS 2IQENRFIGRR

QID : 607 - Secondary needs are acquired through:

GO10R AQGIRGIGER RIIQIR QAR 6RIREIN ?
Options:

1) gratification
Qalky

2) reflex

goea

3) social learning
airiee &l

4) existence
2l

Correct Answer: 3) social learning
airiee sl

Candidate Answer: 3) social learning
airiee &l

QID : 608 - One of the important socio-psychological needs of an adolescent is:

@66 H66IRQ (6l AINRR-ARYGR 2GRS @6l 266 ?

Latest Sarkari Jobs, Govt Exam Results,

Vacancies and updates on one click




Options:

1) rest and sleep

Q19 B AQI

2) water and food

@ G ooy

3) latest mobile phone

22l 661IQIRm 6FIR

4) freedom and independence
420l 9@° IR

Correct Answer: 4) freedom and independence
QBRI 9Q° JRIRG!

Candidate Answer: 1) rest and sleep
Qg9 B AQI

QID : 609 - Which problems are associated with adolescence?

1. Adjustment difficulties with parents

2. Adjustment difficulties with school discipline
3. Toilet training

4. Adjustment difficulties with community

5. Hand-eye coordination

604 AFAAYIGHS 6F66IAIRYI A2 ARG ?

1. JOIFIGIF AAICAIRAER 2@l

2. AQYIRL, PLA6Q ACIEIRR6R 2GRl
3. dirgliel g&iae

4. 60IY1 9@ AAIEARRER &A@l

5. 2g-08 Q6

Options:

1) All 1 to 5 are correct
1Q5499 0]

2) Only 1,2 and 3 are correct
6Rem 1,2 3 0]

3) Only 2, 4 and 5 are correct
609 2,4850Q

4) Only 1, 2 and 4 are correct
6ReR 1,2 B4 0Q

Correct Answer: 4) Only 1,2 and 4 are correct
6007 1,264 0]

Candidate Answer: 4) Only 1, 2 and 4 are correct
600R 1,264 0Q
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QID : 610 - Which one of the following correctly explains how the knowledge of a child's heredity and
environment helps a teacher?

AR @66l Siga °6ligar B AR Hie Ve AIRINY Q6Q, 64 APHER AFY 6RLE A0 QIRER @RI F6x ?
Options:

1) know the varying needs and abilities of the children

dga FQQ dlesiac! G eG! RIgal

2) know how much the students' parents can spend on his/her higher education
fige 2Raee Fga Apdal AR 6060 ¢ @RAIR6e RIFE

3) predict the level of success the said student can achieve

@661 Il 6060 ATRG| Q1AM FRAIAR IQI 2R @QQ!

4) speculate the extent of donation expected from the parents

JOIFIGI 6R60 QIR 6RRAINER FII QA AR

Correct Answer: 1) know the varying needs and abilities of the children
diga FQQ dIesiacl G e AG! RIgial

Candidate Answer: 3) predict the level of success the said student can achieve
@661 IM 6060 ATHRG! 2IAM FRAIAR IQI 2QAIR @QQ!

QID:611- develops both academic and social skills in learner in an integrated manner.

Qg 6066 AAPE QIe6a EINITT 06 R, 6686 8 ARG QVGIYRR A1 @R2IN ?
Options:

1) Problem solving approach
aaay QARG ARG

2) Collaborative learning approach
AReQIoN S8l 86

3) Experiential learning

YRG! ARIAS Sl

4) Inquiry approach

UQARIR ARG

Correct Answer: 2) Collaborative learning approach
AR6EQIGN 8 Q86

Candidate Answer: 1) Problem solving approach
acay QeIRle A86
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QID : 612 - Which one of the following is defined as 'graphical tools for organising and representing
knowledge about certain concepts'?

e HEY 88069 King 2606 @Rl 8 Jedio @RQIR 6606 AURRAgRe’ DFg FrIQ 6REEg YR AIR6R Q4R!
PRUAN ?

Options:

1) Concept map

Q| A

2) Curriculum

Q04

3) Diagnostic assessment
66010 R

4) Prognostic assessment
QEYIYeR ARILR

Correct Answer: 1) Concept map
S, AMIg

Candidate Answer: 1) Concept map
Qq, Mg

QID : 613 - Which one of the following is a tool for developing written communications in learners?

~

Rag AN 6R6G ARITNAIRE FER RS 6QIGI6AIS 6nl6R A8E FARIA I8 FIRIF 266 ?

Options:

1) debate

o0

2) discussion

2iemien|

3) poster making

caIge Aellél

4) school assembly programme
FYIRG, AR RITIF

Correct Answer: 3) poster making
6QIgR Aellél

Candidate Answer: 2) discussion
2iemioR!
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QID : 614 - What is the best approach that a teacher can adopt to include differently-abled students
(with physical challenges) in the classroom learning process?

wos

UIRL, Gi8l gRLI6R QA Q19 (SIS 2GR gQI)F AR ARIRe! dIl 696l Sdea dIR AQ0IQ AR J86
?

Options:

1) use relevant assistive and adaptive devices
QALY ARIR G AR APFLRa @1QLIQ @RI

2) verbally motivate them to participate

2°6gR8 @Rl AR 6AFIRE @2l @8 REIRE FRQ!

3) show them visual content to enrich their learning
6aeIRGQ EAIg AR6 AARI diel 69 66l

4) use a tablet computer to show concepts
QAgeY PAIRAI diRl CIRERE @YIER Q1LRIQ AAY

Correct Answer: 1) use relevant assistive and adaptive devices
QAYY QIR G 2AGYR KGFPNR Q1eRIa @S|

Candidate Answer: 3) show them visual content to enrich their learning
62eIRGQ EAIg AR6 AAQ! il 69 606l

QID : 615 - Which tool should a teacher use for inclusion of visually-impaired students in his class?

0@ 6616162 891 QYA ARIFINGR 2QF696 din S8R 6R6 QIARE Y1QLIQ @RI AFQ ?
Options:

1) hearing aids

€6l QIPQEIgEe

2) adapted science kits
QIR Q%I Hea

3) Braille equipments
69R1 QIQEIGER

4) multimedia kits

—~a

apeeal deq

Correct Answer: 3) Braille equipments
69R1 QURALIGER

Candidate Answer: 3) Braille equipments
69R1 QIQEIGER

QID : 616 - Peer tutoring is a strategy used to help students with _______ difficulty.

626 QI ARIFING AILIAY @ARI Alel IR QAL 6208 AFFIRE QIql AIges ?
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Options:

1) writing
el

2) reading
doe

3) speaking
@@

4) hearing
geal

Correct Answer: 2) reading
aoe

Candidate Answer: 4) hearing
§lQal

QID : 617 - Which one of the following tools should a teacher use to help a student experiencing
difficulty in hearing?

g6l QIO ARINFING AIRIAY FAQI IR TR FEMYE FIQ 606 QURRQEIGPR 12IQ AR QFQ ?
Options:

1) pre- and post-reading drills
Qe G JQ JRQI @I

2) spelling and grammar check
QRIQ B Qa8 AIg

3) audio books

JlelcRalalala[oly

4) visual cues and maps
Ageim Q4 G AIRGRYER

Correct Answer: 4) visual cues and maps
QgaIR g4 G AIRERGPR

Candidate Answer: 4) visual cues and maps
Qg2im Q4 G AIRERG LR

QID : 618 - When learning is meaning making, who is the meaning maker?

<
|

6160696 i8Il 28] ACIEIRIRN @\, 6960696R 2] RFIEIRE @9 ?
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Options:

1) Teacher
ase

2) School
MR,

3) Student
QIe

4) Parent
doIIG!

Correct Answer: 3) Student
)

Candidate Answer: 4) Parent
delciel

QID : 619 - Who gave the four-stage cyclical theory of experiential learning?
ARROIRS SR AR AFg & IR 6aIIR FEY TRIQ 6eREm ?
Options:

1) lvan Pavlov
QIR AIREAIR
2) John Dewey
#Q Q1R

3) David A. Kolb
600Q . 6RIQ

4) Kurt Levin
@F 6MER

Correct Answer: 3) David A. Kolb
606Q . 6RIQ

Candidate Answer: 3) David A. Kolb
606Q . 6RIQ

QID : 620 - In the context of operant conditioning, a favourable event or outcome that is given to the
individual after the desired behaviour is called:

FAUIYP 2PRA 6868, 2SI FAAIRGR! Q1R2IQ A6a TR B2UIALRI ARIAR AIFY Q1 AREIFG @& RIAN
?
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Options:

1) Negative punishment
9 QgauIe

2) Positive reinforcer
JRIe QI8!

3) Positive punishment
49198 QgaIe

4) Negative reinforcer
Q991N QRIeQE

Correct Answer: 2) Positive reinforcer
JQI9e QRIeQE!

Candidate Answer: 2) Positive reinforcer
JRI9P QR1RQE]

QID : 621 - Who gave the term ‘domain-referenced test'?

JOIQ6RR-JIAGre AR 6195 9 QYQLIQ *QLlEM ?
Options:

1) Hively and Millman
aem G AmeI

2) N.E. Gronlund

NQ. @. GQIQQQ

3) Cronback

SNSRI

4) C.E. Beeby

d. Qe

Correct Answer: 1) Hively and Millman
QM G FReMIQ

Candidate Answer: 1) Hively and Millman
QM G FReMIQ

QID : 622 - Who said that 'the greatest service evaluation can perform is to identify aspects of the
course where education is desirable'?

A @Bem 641 '6IKI0I6R SR AISIRAIAN, 6J0I6Q QRAF 636! FRILR SRIQ QFsRI6 GIfel IR @AUIIRARS
?
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Options:

1) N.E. Gronlund

NQ. Q. GQIQGR@\

2) Hively and Millman
QM G FReMIQ

3) Cronback

6210Q4IQ

4) Glasar

qlaQ

Correct Answer: 3) Cronback
SNSRI

Candidate Answer: 4) Glasar
qIaQ

QID : 623 - Benjamin S. Bloom classified domains of human learning into parts.

6987 g, @A AIRER SRR ABIARg 660 QIGER TR FRRIEM ?
Options:

1) two
ga

2) three
o6

3) four
oIR

4) five
dig

Correct Answer: 2) three
o0

Candidate Answer: 1) two

o)

QID : 624 - What is Phantom curriculum?

TIgle AIoRe @61 266 ?
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Options:

1) the curriculum that which is written as part of formal instruction of schooling experiences

646! AI0YRF1 AR, 2RROIQ 6QIRG FORIA 2°6 AUPER 6MEIAIRAIN

2) the curriculum that is implied by the very structure and nature of schools, much of what revolves
around daily or established routines

646! AI0YRF AMIRAR AR B 496 B9Ie6a AIJIRIN 621RCIN, JIRI 63RRA QI 2egIde AIdiergee
29196Q Q6L

3) that part of the curriculum which is not taught in schools

dI0YRFR 646! 2°6l FAIRAYFRER ARIAN QI

4) the enculturation of students into the predominant meta-culture

dRAIeE QP 6F5IERQ 96 YERREl a[N)

Correct Answer: 4) the enculturation of students into the predominant meta-culture
JRIAING QIR 6FCIRAEQ J6 °YeRas Aad

Candidate Answer: 2) the curriculum that is implied by the very structure and nature of schools,
much of what revolves around daily or established routines

646! AI0YRF AMIRAR AR B 9e6 B9Ie6a AIJIRIN 621RCIN, QIRI 63RRR QI 2egIde AIdiergee
2Q196Q Q6L

QID : 625 - According to the Indian School Curriculum, what is the age for vocational apprenticeship
curriculum?

QRO AR, AI0IFF BAIRER, 604 @AIER ULIARS QI BT ?
Options:

1) 16+ 10 18+
16+ Q 18+
2) 12+ to 14+
12+ Q 14+
3) 16+ to 20+
16+ Q 20+
4) 15+ t0 18+
15+ Q 18+

Correct Answer: 4) 15+1to 18+
15+ Q 18+

Candidate Answer: 3) 16+ to 20+
16+ Q 20+

QID : 626 - In the determinants of a curriculum, the ideals stand for intellectual, moral, aesthetic and

04991 FIR FFIRE IR QAL 6208 6918e, 6roe, sdledicall G [
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Options:

1) religious

AT

2) basic needs
dlIIQél aIQQH@QIGl@@
3) goals

RAYGEe

4) decision

Agal

Correct Answer: 1) religious
AIFe

Candidate Answer: 1) religious
AT

QID : 627 - Which among the following assessments 'compares a person’s knowledge or skills
against a predetermined standard, learning goal, performance level, or other clearly defined levels of
achievement or proficiency'?

001g 606 JRIAQ ARYIKAER 'R66l Q1GA KIR G eRFIg 16 JIREIRG FIRe, S8 AAY, Jedn ¢a QI 4F AIe6a
REREI0 2ARY ATRE! Q1 416! A2 QRA! @6Q! ?

Options:

1) Norm-referenced assessments
ARQ-06686 JRideges

2) Standardized assessments
AIRQ1QE ARINRYES

3) Criterion-referenced assessments
ARS-AC ARILRYER

4) Self-Reference

qJReadio

Correct Answer: 3) Criterion-referenced assessments
AIRR-ACe RILRGER

Candidate Answer: 1) Norm-referenced assessments
ARQ-0668e JRIgegee

QID : 628 - Orientations to curriculum should be child-centered, society-centered, and

AIOYRAT SR 60919, AR 60Q1R G 6291 QEQ ?
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Options:

1) knowledge-centered
RO 60910

2) play -centered

66l 61w

3) home- centered

A 60910

4) peer- centered

QY 61w

Correct Answer: 1) knowledge-centered
R 60

Candidate Answer: 1) knowledge-centered
R 60

QID : 629 - Which among the following is NOT a common philosophical orientation to curriculum?
P9 6066 AI0YPFIR IR ARIRE QIFTRe Ren Q68 ?
Options:

1) Idealism
2EQNQ

2) Realism
QIgIQIQ

3) Perennialism
SlgoQIQ

4) Objectivism
QAERSHIQ

Correct Answer: 4) Objectivism
QLGSR

Candidate Answer: 3) Perennialism
SlIgleQIQ

QID : 630 - Which one of the following schools calls for the elimination of a standardized curriculum,
and instead promotes using curricula customized to the students' prior knowledge?

R0 626l AR, IR AIRR I0YRFR Q10 6QR2IN, G I2! @eRER JRIFINE ISR 2IQ QI KR 8AIRER
dIOY9e 19LIQ @8QIg 6JIQIRe @QRIN ?
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Options:

1) Constructivism
QARRNY1L,

2) Cognitivism
A°RIQQIQ

3) Behaviourism
2IFQEIQIQ

4) Gestalt

SN

Correct Answer: 1) Constructivism
QARRNY1L,

Candidate Answer: 3) Behaviourism
IO

QID : 631 - SEjQIQ 6R6 AVARYER “1ETFP 096 AARI IQ° ARIQS FR° QIAl 6816 ARTEFBEI 6697
QEeI" AIfig 2Q?

Options:

1) 6QICI6QR

2) 9QIg 62IR

3) géiel

4) i@ 60R gaa|

Correct Answer: 4) i@ 60Q §&QI

Candidate Answer: 4) i@ 60R §&Q!

QID:632-_____ 6@ldiR 6616\ dmig Aadege a%4 @6d @8I 1e° 66l Pgdea aeBqlea iy @@
Options:

1) g&el

2) AQQ!

3) emgel

4) Q%

Correct Answer: 2) Q@I

Candidate Answer: 3) 6RQI
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QID : 633 - ACRGYE AINIGLR FRIQ 6RLIG 661N JQUIA H2IQ @I (habit formation) 916 Al A0 2662
Options:

1) “0QQl afea @8Ql Hge Q6d 66licN ZQiia GaIR @QQI (habit formation) 9@/l 266, Y21 62Q& 661IGN
e 696 AF6Q 2l6F @2l AU gFe Ig fR2IQ”

2) "0QIRQI A6 Q6d 66lIcN 2QUIQ BRIR @4 (habit formation) JRL 2166, 1QI 628 66lIGN 9FQ 60
AAER 2lierl @2l 2N geg dIg fa2IR”

3) “GiejQl DEle Q6d 661N 2IQ1IA B2IR @Q@! (habit formation) 9G4 2166, Y21 62@& 66lIGN R 6aal
ARTER 26F @2l AQID gRg dIg @taIR”

4) “QQl RE Q6d 66lIcN 2@1Ia G2IR @QQ! (habit formation) 9@l 2166, 121 6208 6615~ QL 6A6!
AFIeQ 2l6e1 @2l 2QUIQ 9o dig etela

Correct Answer: 4) Q8 G&e Q6d 661G 2QiIa G2IR @QQ! (habit formation) 9@ 266, QI 62Q&
6615N g 696 AR 2i6A @2l AU goq dIg @R2IQ

Candidate Answer: 1) “0@Ql af6Q @8QI BEe Q6d 66N 2Qiia G2IR @QQl (habit formation) g@al
66, 921 6268 665N Rl 606 QAR s @2l AQiId qeg dIg @RalIR”

QID : 634 - QIAI PR AR AAYER FIER AERE! RN FAQ 2IQEQ?
Options:

1) &%l AIel QI GRAFRR IQ 263

2) 881 AR QI AQOIQ YQEll 9@ 2166

3) 2! QI gRIRQ Ie 2°6 Q6%

4) 3R4ENAI6R QI AU6Q QAT *QQ RIS

Correct Answer: 1) &8I ARl 9@ gRURAS IQ 266

Candidate Answer: 1) &8 il 92! RUIRRR 9L 266

QID : 635 - 606 JRIAK 6ASIER PR, A6AIT, AL G Ay AIfiR 28?
Options:

1) QIBCQ QIRG®

2) NQEAIREE IR QUIRE®

3) @IEQ ARG®

4) Q6MIRR ARG®

Correct Answer: 2) \@6dI@66101 QIRE®

Candidate Answer: 3) §95Q QIQG®
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QID : 636 - qlg FIQ 606 Faf OF 21667 @ PQA1 REHIRR @0 2G|
Options:

1) 9QdR, IRIRREAE]

2) 2J¢), 6€1I6RIGlICT

3) @RARIR, REATEEER

4) ¥QedIReR, AgIeIR

Correct Answer: 4) IQ6QIRSIR, A6

Candidate Answer: 4) 96016, A4ISIQ

QID : 637 - §-2T-ARYPR 66, RGO FIQ 606! A6REN Aipl Q1QLIR FQIAIREIN?
Options:

1) QIQIAING FRIR 690! AR

2) 2@ QYIEREB° G 2RAS @ITY AR Ui FAITNAIRG QLIRS @RS
3) 66@° PRI AEREER AR PRQ

4) QAEQIQ QAg

Correct Answer: 4) QJ6QIQ AAg

Candidate Answer: 1) 2QIFIRg TR 60QI Al

QID : 638 - 65611 6@ 216AEC1E] Alel AIREIES FRRCIER FEMEE FUQ 626 IPERSIRIR YT Q192IQ @Qg?
Options:

1) @686 Yo

2) adeig e

3) RIeeFq YaIe

4) Q@ (P66l6l Y6IO) G (Adalg YaIo)

Correct Answer: 4) QQ. (9666 qI6IF) G (AFAIR Y&IS)

Candidate Answer: 3) \QI6001Q Q66

QID : 639 - ARG FUQ 606 YEIFG Q1LLIQ @R 2IREIRC! RN 60ITTIGIP 526 GRAQI 6ALEER
NQEREQ, AIFQ 621R8)Q1 P66l QISP ZIQSHE R6a?
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Options:

1) 9@I600Q Q&Ie
2) Q6gle Y

3) adellp Qee

4) NQEREINIR Y

Correct Answer: 3) A Qelo

Candidate Answer: 1) \QI600Q Q66

QID : 640 - @66l YT QIQLIQ FARIR QERE! @'61?
Options:

1) 921 R6RY @l 6aldRg @40l @A6! dial QLVIQ FAIAIN, AIR] FRIEFIER Sisg 6AIM IPERCREAINFA ASI eIN
|

2) Q1@ Q1921 AR 2IQSRC! 6RARR 6JITENR1Q 96 GRQI 6AEER gAY, FAIYR 621RRI @66l5] IEIE
AR F6Q|

3) 6060 PQIIR FERIG BEl 6615\ FIRECRI-EQTERY PRSI 2ISAQEFIE] 2I6TIRG, 98 FQ 606IEY
61261 @Q6Q, 012 ASIas @QQI AlRl|

4) a0 (2! R6AR Al 6xEIRE Agrl FAAI dIEl Q1ERIQ FAIAIN, IRl FRYIEFIER Sslg 6QIR IQERCQFINGFR
Q&I 2N 1) B (219 Q192IQ @R AIREIRG! MARA 60IFTNGIQ 026 @RI 6AGEER NREReT, FIFR 61N
@66)6] QYIS 2SR F6Ql)

Correct Answer: 1) 21 96RQ QI 6al6RY QER! @RI dial IQIQ AQIAN, IRl FeYiEhier &g 6aIR
N@ERCRAINER AR 2IN |

Candidate Answer: 2) 2I@ Q1Q2IQ @8 2IQ61a0! AR 6QIFTANG1Q 096 @RI 6ALLER IPERST,
AIYQ 621R2JQ1 P66l6] FISIS 2SR FeQll

QID : 641 - 4O QIRY6Q 626 JRIR U@ JRRE JOEI? QAT 62QR ‘62 6Ql6F° ARG .
Options:

1) QAR 9@ I8l

2) 6I6@ A0 gRQ8!

3) RGR JQ a4l

4) 6d[0e- @TR A0 g8l

Correct Answer: 1) Q& dQ Q4

Candidate Answer: 3) @G% dQ d@Q8l
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QID : 642 - 6dQIQG R6Q 606 AT g (TFER) 9Q° 6066 AR (99)?
Options:

1) sea- €@, ward-2lQ®

2) sea-21e®, ward-¢JQ

3) se-(@, award-2Ie®

4) se-21e®, award-qq

Correct Answer: 1) sea- €@, ward-2Ie®

Candidate Answer: 1) sea- (@, ward-2IQe®

QID : 643 - TIQ6R QI 6RGAR FEMEE FUIQ 696 QAR FR8 FR2IN?
Options:

1) 21 QIRY6Q QUYY PEMIEREQER 6aAIFaIN|

2) 21 QIRY6Q 2l GIFIFRIR YREQQ AFIRs @RRIN|
3) 666N QIVIR 921 IR FIR6RIY &7l 6RURIQRIAT 26T
4) QA6 AAg|

Correct Answer: 4) QeI 4|

Candidate Answer: 4) Qa6QIq QA4

QID : 644 - 671l QAN 661IGN 6QICIIRY 266, 664 671IR Al 6I'R Yl AIR B19 AIFER 6996 6a AR @R QG |
POREe FIQ 6R6 §1Q JOQ @66lQ6 F65|86 QIR 6615~ @ 21667

Options:

1) QR8N

2) 6QIIFIQME,
3) AQ

4) 62QQe

Correct Answer: 2) 6di¢]iFlgme

Candidate Answer: 2) 6di]iFIgRg,

QID : 645 - FR1Q 67112 6ARIAGR dedl emall @2l die 991d6
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Options:

1) QEe - argoe go
2) gq®

3) egrige

4) Q810 QI QUQ

Correct Answer: 1) QIR - Agee g6

Candidate Answer: 2) d@%

QID : 646 - 54 J906 Q% QI6Q 6I6?
Options:

1) g6ae AR1g

2) Q1R 6719R 6ARIE

3) GIRFRIA 67162Q
4) 6algIRlel QI

Correct Answer: 3) GIaPRIQ 60162Q

Candidate Answer: 2) IQ1Q 6729 6aRIA0

QID : 647 - Q1R6IRAQ QeI a9?
Options:

1) FRIQ 67190 69R106

2) QrIRI QU

3) 4QIQ @4 GIEFRIA 67162Q
4) g6aQ AQ1g

Correct Answer: 4) 4609 (1QI§

Candidate Answer: 4) g60Q (12§

QID : 648 - 92IF1 ARGY IRIERA JagIa & dIRej6R, IQ 6a16d QIR &F)l QORI 68R16Q YRRETR ARG QOR!
IR YUK A J2IF GRGIQ emI?
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Options:

1) GIEFRIQ 67162Q

2) QRIIRIE QUL

3) 661A1RIRl Q1Y

4) IR1Q 601 64RIA0

Correct Answer: 3) 66llQ1RI2 AQIF

Candidate Answer: 2) QRIIQI2l QL

QID : 649 - J38 @F6|, PR KFEA 6Q FFC AP RE1?
Options:

1) 656l R1RR6ERT QAR Q4&F

2) difi@ Q14 508 K6a

3) BR6IR RREEMA J°dl K6Q
4) RIFEE 6QQAUQ

Correct Answer: 1) G54l @19R66R1 QUER QY&

Candidate Answer: 1) BG6ll @1QQ66RT QAR QY&

QID : 650 - 46019 FIRIPFA 626! RARYIA @8 ¢ QAR ARIFG?
Options:

1) QY6@46I16Q AN

2) 2QeaQ ATl

3) ARG ARQ,

4) MP68R

Correct Answer: 2) 2I@0aQ AeQ1QY

Candidate Answer: 4) QIR66IR
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QID : 651 - AIeie Q1Iel QAR Jg| 2ARIAG 266 | AYLIPEIY UINQ ITE ARY | AR AGIP ARRJAI P68l JA@ 1@
Q9 RJQI 6QIRIRER J6R6 fRlEM | 64 698 ARARINR IR ARTE @RRIER AV gem TN QI AR 61
QUQEJEM IQ° QG N AIFIG @RI AARRI AGRJQ QSR | FIF QY JRINQ AREAR I Q REl 9e° JQg
deIa 6lIQ1 6Q6lIRAIER RITER | A 6296 ARIQE Q6 AI°Q @EQI J6Q, 64 R4 UG TG SIMGIER,
60610160 9Q 9go AIFg @8 @l AIRRIRI Ie° A6a QEIeg ARIAE SIMGER | 6aFIRG QIal, 36201 SIFa
2RI, QU6Q I60Q KRR 2I0A AR 9Q° I6RR JeRa dIR AInds @2em | Jefe olf JeIRgem @ 64
QIYR6Q @61 PIRIF, 9° 64 QAR 6R6M & 64 FRC UIR FIRIF | 69 AF6M &, 6JRR ARI6R 64 IR SIAUFARIAR
6dIIR6R 6d0Iq ZIdeem 4Q° AIFIRY IR 2iedE @2 | Sl IR Y4 6RIRAMI \NQ° 64 ARg Q8 FRQIQ
QIPEEM | 64 6RQR AR Q1RLIQ AR M 6AIBIQ ARIR @] 2Ide)ER, 6@leld o4 Faielg 2IdrYem | 6@6d GRS
o 88 64 6QIRIRQ QILIR GI6M |

QIR0 gOr Q6 R fJQI AL @R2EM ?
Options:

1) am @JQ! ARIP FARI IFQ AR S |
2) Cl&q KPER oMl |

3) 649 Y@ VORI AIR2EM |

4) F690IF 60 JRIAE @RQIQ CIFEEM |

Correct Answer: 4) Q6g0Ig 64 JQIAE @ARIQ SILT6M |

Candidate Answer: 4) 969015 64 JQIAE RRQIQ L6 |

QID : 652 - RGOS QIS ATEQ Jg| 2RIAG 266 | AREIEY UIRQ G AQQ | AR ARRIR FRJAI 66 Y@ IR
Q9 AAQ! 6QIRIRER J6QE @M | 64 698 FRARINE UIR ZiedE @RRI6R AR Zem AN CIF AR 6lm
QUM IQ° QO N AIFIG @EIQI AR QYRR AIQEEM | BIF QY JRINQ AREAR I Q MEl 9e° §QQ
dRIQ 6IQ1 66lIRRI6R MIGEM | FIR 64gE ARINE QIR AI°Q @A J6Q, 64 2R Y@ FRICY FINGIER,
6060168 QoQ dge aiag Q7 @Ql AR 9e° A6a QEIY FRICR CIRCIER | 6AFINE QIAl, F6a0I GIFQ
2RAQIN, AU6Q A6LL KRR AR AR 9Q° I6RR JRRA dIR 2Inds f2em | Jefe Glf JeIRgsM @ 64
QIZQ6R R4l PIRIF, 9Q° 64 AAA 6X6M &@ 64 ARF IR FIRIF | 62 FR6M &, ATRR ARIER 64 IR ZIAUARILR
6QIBIRER 6201q 2Idejem 9e° AIFY diIR IRdE @R | QIF CIRCI FE 6RIRgRI 9e° 64 ARg Q@ ARl

QIFEIEM | 60 6RR AR Q1LRIQ AR M 6AITIR AR 67 21dg6R, 6l6ld @9 HEQIg adresm | 6alad @R
@ Q8 6Q 6QIRINQ QIRIA GI6M |

ael ARl AREI°616Q, 6QIRIR6Q @GQGIG?OIQ e dIRC)Q! 6MINETR QR8N @6 266 ?
Options:

1) gOQ 0Qél

2) 41 QleR

3) g9 glee

4) gQéll glee

Correct Answer: 2) JQ1gI9@

Candidate Answer: 2) JQ1g9@
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QID : 653 - AIReie Q1Iel QAR Jg| 2RIAG 26E' | AYLIEIY UINQ ATE ARY | AR AGIIP ARRJAI P68l Jo@ 1@
Q9 RJQI 6QIRIRER J6R6 fRlEM | 64 698 ARARINR IR ARTE @RRIER AV gem TN QI AR 61
QUQEJEM IQ° QG N AIFIG @RI AARRI AGRJQ QSR | FIF QY JRINQ AREAR I Q REl 9e° JQg
deIa 6lIQ1 6Q6lIRAIER RITER | A 6296 ARIQE Q6 AI°Q @EQI J6Q, 64 R4 UG TG SIMGIER,
60610160 9Q 9go AIFg @8 @l AIRRIRI Ie° A6a QEIeg ARIAE SIMGER | 6aFIRG QIal, 36201 SIFa
2RI, QU6Q I60Q KRR 2I0A AR 9Q° I6RR JeRa dIR AInds @2em | Jefe olf JeIRgem @ 64
QIYR6Q @61 PIRIF, 9° 64 QAR 6R6M & 64 FRC UIR FIRIF | 69 AF6M &, 6JRR ARI6R 64 IR SIAUFARIAR
6dIIR6R 6d0Iq ZIdeem 4Q° AIFIRY IR 2iedE @2 | Sl IR Y4 6RIRAMI \NQ° 64 ARg Q8 FRQIQ
QIPEEM | 64 6RQR AR Q1RLIQ AR M 6AIBIQ ARIR @] 2Ide)ER, 6@leld o4 Faielg 2IdrYem | 6@6d GRS
o 88 64 6QIRIRQ QILIR GI6M |

PP 6RIR REIR ARG QI6R 2B FRIG gy oM IR
Options:

1) @16 64 @R @UG! SIF6EM |

2) @18 6 §9Q IgO FUGI AL @A FLER |

3) QIR6 6a61d PRA FEQI IRl 698 Q18 RFS FA6R |
4) Q061 Q4§ K6Ie 2gQ g6m |

Correct Answer: 3) @IQél 6al61d §RE F8Ql ARl 698 91§ AR FLY6M |

Candidate Answer: 1) QIQé 64 QR AU GIFL6M |

QID : 654 - HREE QIS ATEQ Jg| 2RIAG 266 | AREIEY UIRQ AE AQQ | AR ARRIR FRRJAI 66 Y@ IR
Q9 AAQ! 6QIRIRER J6QE @M | 64 698 FRARINE UIR ZiedE @RRI6R AR Zem AN CIF AR 6lm
QUM IQ° QO N AIFIG @EIQI AR QYRR AIQEEM | BIF QY JRINQ AREAR I Q MEl 9e° §QQ
dRIQ 6IQ1 66lIRRI6R MIGEM | FIR 64gE ARINE QIR AI°Q @A J6Q, 64 2R Y@ FRICY FINGIER,
6060168 QoQ dge aiag Q7 @Ql AR 9e° A6a QEIY FRICR CIRCIER | 6AFINE QIAl, F6a0I GIFQ
2RAQIN, AU6Q A6LL KRR AR AR 9Q° I6RR JRRA dIR 2Inds f2em | Jefe Glf JeIRgsM @ 64
QIZQ6R R4l PIRIF, 9Q° 64 AAA 6X6M &@ 64 ARF IR FIRIF | 62 FR6M &, ATRR ARIER 64 IR ZIAUARILR
6QIBIRER 6201q 2Idejem 9e° AIFY diIR IRdE @R | QIF CIRCI FE 6RIRgRI 9e° 64 ARg Q@ ARl

QIFEIEM | 60 6RR AR Q1LRIQ AR M 6AITIR AR 67 21dg6R, 6l6ld @9 HEQIg adresm | 6alad @R
@ Q8 6Q 6QIRINQ QIRIA GI6M |

QIR oo REe A% ¢ A8 QIRIRQ ARIEM?

Options:

1) RIQ6 64 HR AARQ 62l FAS AIRGA AIR |

2) @108 le Ad 96 AIRYR |

3) QI8 6d U6Q HEIQ Alel YR 6RREER |

4) QI8 ARIKE RAGI AR @RI 1R AR F6aEIFA MG ALLIAY QIR AR 6Q 6d01g 2IT26M |

Correct Answer: 4) @IQ8 ARIQE @UGI AR @RS Q1P IR F6EOIFA ARG 1LY FEIRA! iR 64
640Iq 2IT26m |

Candidate Answer: 4) @14l ARIQE @A ARRIR FHEJQ QUG Alel FEROIFA RGN R19210G IRQ! Alet
6Q 601§ 2ITeJeM |
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QID : 655 - ACREiE QI8 QAR Jg| 2RIAG 266 | AQLIEIY UINQ IEE ARY | AR AGIP ARRJAI P68l Joa 1@
Q9 @JQI 6QIRIRER J6RE @AM | 64 698 ARARIA IR 2RV @RQIER AVF gem O QI AR 6QIR
QUQEJEM IQ° QG RN AIFIg @EQI AR AGRJQ QSR | FIF QY JRIAQ AREAR I Q ME] 1e° §Qg
JeIQ 6IQ1 6Q6lIRRI6R RITER | FIR 64geg ARINE QI AI°Q @A J6Q, 64 2R Y@ FRIGY FINGIER,
60610160 J9Q 9go AIFg 98 @l QISR IQ° A6Q Q6Ieg ARINE SIMGER | 63FIRG I, B620! SIFa
RYIL, QU6R I602 FRQI 2IAF FRZEM I9° I6RR IR In 10T @R2EM | 4R 01 JeIRgem & 64
QIYR6Q @61 PIRIF, Y@° 64 QAR 6R6M & 64 FR¢ UIR FIRIF | 69 AF6M &, 6ARR ARIER 64 Y@ SIAUFARIAR
6QIFIR6R 6201 2IT2jem I&° AIFIRY AR ARTE @R2eR | Gl SR FE 621ReIMI 9e° 64 FRq QL FRRIg

QIPEEM | 69 6RQR QM Q1QLIQ AR M 6AIRIQ AR @] 2Ide)ER, 6@l6ld o4 FEielg 2IdrYem | 6al6d R
o 88 64 6QIRIRQ QIR GI6M |

02l QIRejQl AgeIPaIQ 661EN 619 66IRg, AIRl “QE” R FANIGIFERRIP 618 266 |
Options:

1) QAQIQ
2) 69

3) g8ale
4) 9q

Correct Answer: 4) Q¢

Candidate Answer: 4) Ga¢

QID : 656 - 9§ HF6Q @ RIEI 2RIAG | *IGITY AR Ie° HYRES Jggeea aaa baig |

Q914 61 AIRE

6¢1l 2IY6R

¢ 661 26 9@ R ARG

661166 @R8Nl AR ¢ AIR@

6¢1l 2IN6R

¢ 61 2IYI6R 661166 Q&I AR
FIAI61Q 48 e AIRQ! RS

6¢1 2IFI6R

¢ 611 21160 661166 ARIAITR AR

6lIR 98 A1 AR 69 0 RID6 F28]?
Options:

1) AQ1gER @R

2) PQ1gER 1R 9e° Q8@

3) PQIGER 66lITN Gal6q 66 @6Q

4) RQ1gEe Qug

Correct Answer: 3) QQ1gee 665N Gal6a 616 @6Q
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Candidate Answer: 3) QQIgER 665N GGI6Q 616 F6Q

~

QID : 657 - 9§ HF6Q 9@ @0 ARIAG | FGITY Aeg Ie° HYREe JgePea aaa Gaig |

QQ1dQ 6Ig ARG

61l 2IlIeR

¢ 671l 2IN6R ¥R Q1 ARG

66166 ©Q 8l AR ¢d AIRE

61l 2glieR

¢ 671l 2ICY6R 6666 ¥QEI ARG
FRIAI6IQ 48 e AIRQ! ARG

661 2liea

¢ 611 2160 661166 ARIAITR AR

@6 QIR0 @297 ¢d 1@ easl al"?
Options:

1) g/d QI8 6TI6RI AR GIQ1 6QEIRR| AR
2) Qe ¢d AIdi a@

3) QI KRV AT @6Q

4) Q| 9A1geIN

Correct Answer: 1) ¢@d QI8 6FI0@I AR Q121 628IRQ AR

Candidate Answer: 3) Q| @RQg AT R6Q

~

QID : 658 - 9§ AFl6Q oA @Q0I ARIAEG | FFRITY aQg e Amee J6geea aaa Ga@

QQ1dQ 6lIf ARG

61l 2glieR

¢ 6611 21160 Ie Q1 AIRE

66166 €8l IR ¢A ARG

661 2leq

¢ 611 2160 661166 €8N ARG
A2IAITQ AR R ARSI ARE

61l 2IglI6R

¢ 6711 216Q 661166 ARIAITR AR

@0 QIR P27 AR ARSI 9@ AR AQ"?
Options:

1) FQIQIGIR6R MG 218

2) FRIAIBIQGERER &I AIE
3) FRIAICIRGER §Q 99

4) FRIAIFRGER QORI
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Correct Answer: 3) ¢QIQICIAGER §Q @Q

Candidate Answer: 3) (RIQIGQYELR §Q @9

QID : 659 - 9§ HF6Q @ @G 2ARIAG | ¥FGITY AQY Ie° HYRES Jgerea aaa baig |

QQ1dQ 6Ig ARG

6¢1 2IFI6R

¢ 671l 2160 9@ Q1 AIRR

66166 ©Q 8l ARl ¢fd AIRE

6€1l 2lIFI6R

¢ 671l 2ICY6R 6666 ¥QEI ARG
A2IAIGQ AQ oM AR ARS

6€1l 2lIFI6R

¢ 6711 2160 661166 ARIAITR AR

R0 W66 @'61?
Options:

1) QI@REIF Q861

2) QIRREF ¢d 2QEe @Qe]

3) QIPREIF 66166 AAQY AFRIE FARG
4) Q4@RE Q4q g6m

Correct Answer: 2) QY@@ ¢d 2QOe @Qef

Candidate Answer: 2) QiR ¢d 2Q0e @QeQ

QID : 660 - 9§ HF6Q @ RIE! 2RIAG | KFGITY A Ie° FYRES Jggeea aaa baig |

Q914 61 AIRE

6¢1l 2IY6R

¢ 661 26 9@ R ARG

661166 @R8N AR ¢ AIR@

6¢1l 2IN6a

¢ 61 2IYI6R 661166 Q& AR
FIAI61Q 48 eR AIRQ! ARG

6¢1 2IFI6R

¢ 611 21160 661166 ARIAITR AR

694 B2 @Q "6aQIQECIRN" 6mejelem ?
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Options:

1) QRIS QUL

2) Q1A 671QR 6QRIAT
3) ARIGER AUG

4) 46QQ 71917

Correct Answer: 2) T@1Q 67190 64R21d6

Candidate Answer: 2) IQ1Q 6¢l12R 6dRIAG

QID : 661 - The sentence below has been divided into three parts. Select the part of the sentence that
has an error. If the sentence has no error, select the option 'No Error'.

"We are taking this / situation seriously and the / offenders will be punishing”
Options:

1) We are taking this

2) situation seriously and the

3) offenders will be punishing
4) No Error

Correct Answer: 3) offenders will be punishing

Candidate Answer: 2) situation seriously and the

QID : 662 - Select the word segment that substitutes (replaces) the bracketed word segment correctly
and completes the sentence meaningfully. Select the option 'no correction required' if the sentence is
correct as given.

You may (also printed the sheet) by right clicking the sheet and selecting "Print"

Options:

1) also print the sheet

2) also prints the sheet

3) also print an sheets
4) No correction required

Correct Answer: 1) also print the sheet

Candidate Answer: 1) also print the sheet
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QID : 663 - A sentence has been given in Active/Passive voice. Out of the four alternatives suggested,
select the one which best expresses the same sentence in Passive/Active voice.

The movie goers strongly criticized his movie.
Options:

1) His movie were strong criticizing by the moviegoers
2) His movie were strongly criticized by the moviegoers

3) His movie was strongly criticized by the moviegoers
4) His movie is strongly criticized by the moviegoers

Correct Answer: 3) His movie was strongly criticized by the moviegoers

Candidate Answer: 4) His movie is strongly criticized by the moviegoers

QID : 664 - Select the most appropriate word that fills in the blank correctly and completes the
sentence meaningfully.

this exercise, you will be working with almost all the major muscle groups in your body.
Options:
1) During
2) Since

3) Because
4) Further

Correct Answer: 1) During

Candidate Answer: 1) During

QID : 665 - Select the most appropriate word that fills in the blank correctly and completes the
sentence meaningfully.

All the students will work ___ a collaborative environment.
Options:

1)in

2) an

3) about
4) between

Correct Answer: 1) in

Candidate Answer:
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QID : 666 - Select the word that is closest in meaning (SYNONYM) to the word given below.
PALTRY

Options:

1) contemplate

2) consort

3) insignificant
4) dissuade

Correct Answer: 3) insignificant

Candidate Answer: 1) contemplate

QID : 667 - Select the word that is opposite in meaning (ANTONYM) to the word given below.
SERENDIPITY

Options:

1) Ruminate

2) Luck

3) Misfortune

4) Lackey

Correct Answer: 3) Misfortune

Candidate Answer: 2) Luck

QID : 668 - Select the word that is spelled correctly.

Options:
1) Fhlehm
2) Fhlem
3) Phlem
4) Phlegm

Correct Answer: 4) Phlegm

Candidate Answer: 3) Phlem
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QID : 669 - Select the most appropriate 'one word ' for the expressions given below.
Someone who is stubbornly unyielding

Options:

1) Pertinacious

2) Sanctimonious

3) Morpheus

4) Delirious

Correct Answer: 1) Pertinacious

Candidate Answer: 3) Morpheus

QID : 670 - Select the option that best expresses the meaning of the idiom or phrase given below.
Hear it on the grapevine

Options:

1) to do something badly or cheaply

2) to fight with someone

3) to hear rumours about something or someone.
4) to judge someone or something based solely on appearance

Correct Answer: 3) to hear rumours about something or someone.

Candidate Answer: 4) to judge someone or something based solely on appearance

QID : 671 - Which one of the following is not a method of conducting Oral Work?
Options:

1) Performing actions

2) Asking questions

3) Giving an outline of a story

4) Assigning homework

Correct Answer: 4) Assigning homework

Candidate Answer: 2) Asking questions

QID : 672 - How many roles of listening are there?
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Options:
1)7
2)5
3)4
4)9

Correct Answer: 3) 4

Candidate Answer: 3) 4

QID : 673 - The word Maxim means

Options:

1) The theory of time

2) A phrase which expresses what is true or what people think is a rule for sensible behaviour

3) The unconscious part of the human mind
4) The study of learning

Correct Answer: 2) A phrase which expresses what is true or what people think is a rule for sensible
behaviour

Candidate Answer: 4) The study of learning

QID : 674 - Phonology is

Options:

1) The study of how sounds are formed with sound patterns in a language or across languages

2) The study of perception and production of sound

3) The process of arranging words and phrases to create a well-structured sentence in a language

4) The philosophical and linguistic study of the meaning of a language

Correct Answer: 1) The study of how sounds are formed with sound patterns in a language or
across languages

Candidate Answer: 4) The philosophical and linguistic study of the meaning of a language

QID : 675 - Which of the following does learning to speak a language help a child in the process of
learning?
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Options:

1) The sounds of language along with rhythm, intonation and stress

2) Developing how to listen to class lectures, teachers' speeches and instructions provided to them.
3) The sequencing of ideas into an incoherent whole in an extended talk

4) The practice of keeping thoughts to oneself

Correct Answer: 2) Developing how to listen to class lectures, teachers' speeches and instructions
provided to them.

Candidate Answer: 2) Developing how to listen to class lectures, teachers' speeches and
instructions provided to them.

QID : 676 - The study of how words are formed, their internal structure and their relationship with
other words in a particular language is known as

Options:

1) Phonetics
2) Morphology
3) Pragmatics
4) Orthography

Correct Answer: 2) Morphology

Candidate Answer: 2) Morphology

QID : 677 - The time limit that should be dedicated for teaching grammar to especially lower level
student is

Options:

1) 20 minutes
2) 15 minutes
3) 10 minutes
4) 45 minutes

Correct Answer: 3) 10 minutes

Candidate Answer: 2) 15 minutes

QID : 678 - Which one of these is not an essential use of grammar?
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Options:

1) It teaches various concepts on subject, sentence, verb, phrase, clause and other related things for
editing

2) It teaches proper punctuation and mechanics for clarity, style and convention

3) It teaches sentence sensing through manipulating the syntactic elements

4) It helps one to understand the correct method of decoding

Correct Answer: 4) It helps one to understand the correct method of decoding

Candidate Answer: 2) It teaches proper punctuation and mechanics for clarity, style and convention

QID : 679 - The method of using instructional strategies to draw out a student’s attention or focusing
on structure or form is called

Options:

1) Audio-lingual technique

2) Cognitive communication

3) EGI or Explicit Grammar Instruction
4) The grammar-translation approach

Correct Answer: 3) EGI or Explicit Grammar Instruction

Candidate Answer: 2) Cognitive communication

QID : 680 - Which one of these should one not do when they are working with students who have
special needs?

Options:

1) Seek help from the district of special education or experts on the resource

2) Go on with the course of work without any paying any special attention to the student, as they
should be learning on their own

3) Gather as much information on the students and their needs, on how or if any difference would
affect the learning process

4) Remove any kind of psychological or physical barriers from the classroom, which may limit the
student’s ability to achieve success

Correct Answer: 2) Go on with the course of work without any paying any special attention to the
student, as they should be learning on their own

Candidate Answer: 4) Remove any kind of psychological or physical barriers from the classroom,
which may limit the student’s ability to achieve success
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QID : 681 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

Lata Mangeshkar is an Indian playback singer and music director. She is one of the best-known and
most respected playback singers in India fondly called Nightingale of Bollywood and Melody Queen.
She has recorded songs in over a thousand Hindi films and has sung songs in over thirty-six regional
Indian languages and foreign languages, though primarily in Marathi, Hindi, and Bengali. Lata
Mangeshkar was born in 1929, the eldest daughter of Pandit Deenanath Mangeshkar, a Marathi
musician and his Gujarati wife Shevanti in Indore (today in Madhya Pradesh and then the capital of
the princely state of Indore which was part of the Central India Agency in British India). Her father,
Pandit Deenanath Mangeshkar, was a classical singer and theatre actor. Her mother, Shevanti, a
Gujarati woman from Thalner, Bombay Presidency (now in northwest Maharashtra), was Deenanath's
second wife; his first wife Narmada, who had died, was Shevanti's older sister. She has four siblings—
Meena Khadikar, Asha Bhosle, Usha Mangeshkar, and Hridaynath Mangeshkar—of whom she is the
eldest. On 27 January 1963, against the backdrop of the Sino-Indian War, Mangeshkar sang the
patriotic song "Aye Mere Watan Ke Logo" in the presence of Jawaharlal Nehru, then the Prime
Minister of India. The song, composed by C. Ramchandra and written by Kavi Pradeep, is said to have
brought the Prime Minister to tears. Lata Mangeshkar's most notable songs in the 1970s were
composed by Laxmikant-Pyarelal and Rahul Dev Burman. From the 1970s onwards, Lata Mangeshkar
has also staged many concerts in India and abroad, including several charity concerts. Her first
concert overseas was at the Royal Albert Hall, London, in 1974 and was the first Indian to do so. Lata
Mangeshkar has won several awards and honours, including Bharat Ratna (India's Highest Civilian
Award), Padma Bhushan (1969), Padma Vibhushan (1999), Dadasaheb Phalke Award (1989),
Maharashtra Bhushan Award (1997), NTR National Award (1999), Bharat Ratna (2001), Legion of
Honour (2007), ANR National Award (2009), three National Film Awards and 15 Bengal Film
Journalists' Association Awards. She has also won four Filmfare Best Female Playback Awards. In
1969, she made the unusual gesture of giving up the Filmfare Best Female Playback Award, in order
to promote fresh talent. She was later awarded Filmfare Lifetime Achievement Award in 1993 and
Filmfare Special Awards in 1994 and 2004.In 2009, Mangeshkar was awarded the title of Officer of
the French Legion of Honour, France's highest order.

Who among these is not a sibling of Lata Mangeshkar?
Options:

1) Asha Bhosle

2) Meena Khadikar

3) Hridaynath Mangeshkar

4) Deenanath Mnageshkar

Correct Answer: 4) Deenanath Mnageshkar

Candidate Answer: 4) Deenanath Mnageshkar
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QID : 682 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

Lata Mangeshkar is an Indian playback singer and music director. She is one of the best-known and
most respected playback singers in India fondly called Nightingale of Bollywood and Melody Queen.
She has recorded songs in over a thousand Hindi films and has sung songs in over thirty-six regional
Indian languages and foreign languages, though primarily in Marathi, Hindi, and Bengali. Lata
Mangeshkar was born in 1929, the eldest daughter of Pandit Deenanath Mangeshkar, a Marathi
musician and his Gujarati wife Shevanti in Indore (today in Madhya Pradesh and then the capital of
the princely state of Indore which was part of the Central India Agency in British India). Her father,
Pandit Deenanath Mangeshkar, was a classical singer and theatre actor. Her mother, Shevanti, a
Gujarati woman from Thalner, Bombay Presidency (now in northwest Maharashtra), was Deenanath's
second wife; his first wife Narmada, who had died, was Shevanti's older sister. She has four siblings—
Meena Khadikar, Asha Bhosle, Usha Mangeshkar, and Hridaynath Mangeshkar—of whom she is the
eldest. On 27 January 1963, against the backdrop of the Sino-Indian War, Mangeshkar sang the
patriotic song "Aye Mere Watan Ke Logo" in the presence of Jawaharlal Nehru, then the Prime
Minister of India. The song, composed by C. Ramchandra and written by Kavi Pradeep, is said to have
brought the Prime Minister to tears. Lata Mangeshkar's most notable songs in the 1970s were
composed by Laxmikant-Pyarelal and Rahul Dev Burman. From the 1970s onwards, Lata Mangeshkar
has also staged many concerts in India and abroad, including several charity concerts. Her first
concert overseas was at the Royal Albert Hall, London, in 1974 and was the first Indian to do so. Lata
Mangeshkar has won several awards and honours, including Bharat Ratna (India's Highest Civilian
Award), Padma Bhushan (1969), Padma Vibhushan (1999), Dadasaheb Phalke Award (1989),
Maharashtra Bhushan Award (1997), NTR National Award (1999), Bharat Ratna (2001), Legion of
Honour (2007), ANR National Award (2009), three National Film Awards and 15 Bengal Film
Journalists' Association Awards. She has also won four Filmfare Best Female Playback Awards. In
1969, she made the unusual gesture of giving up the Filmfare Best Female Playback Award, in order
to promote fresh talent. She was later awarded Filmfare Lifetime Achievement Award in 1993 and
Filmfare Special Awards in 1994 and 2004.In 2009, Mangeshkar was awarded the title of Officer of
the French Legion of Honour, France's highest order.

Which of these is not an award bestowed upon Lata Mangeshkar?
Options:

1) Arjuna Award

2) Bharat Ratna

3) Padma Bhushan

4) Dadasaheb Phalke Award

Correct Answer: 1) Arjuna Award

Candidate Answer: 1) Arjuna Award
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QID : 683 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

Lata Mangeshkar is an Indian playback singer and music director. She is one of the best-known and
most respected playback singers in India fondly called Nightingale of Bollywood and Melody Queen.
She has recorded songs in over a thousand Hindi films and has sung songs in over thirty-six regional
Indian languages and foreign languages, though primarily in Marathi, Hindi, and Bengali. Lata
Mangeshkar was born in 1929, the eldest daughter of Pandit Deenanath Mangeshkar, a Marathi
musician and his Gujarati wife Shevanti in Indore (today in Madhya Pradesh and then the capital of
the princely state of Indore which was part of the Central India Agency in British India). Her father,
Pandit Deenanath Mangeshkar, was a classical singer and theatre actor. Her mother, Shevanti, a
Gujarati woman from Thalner, Bombay Presidency (now in northwest Maharashtra), was Deenanath's
second wife; his first wife Narmada, who had died, was Shevanti's older sister. She has four siblings—
Meena Khadikar, Asha Bhosle, Usha Mangeshkar, and Hridaynath Mangeshkar—of whom she is the
eldest. On 27 January 1963, against the backdrop of the Sino-Indian War, Mangeshkar sang the
patriotic song "Aye Mere Watan Ke Logo" in the presence of Jawaharlal Nehru, then the Prime
Minister of India. The song, composed by C. Ramchandra and written by Kavi Pradeep, is said to have
brought the Prime Minister to tears. Lata Mangeshkar's most notable songs in the 1970s were
composed by Laxmikant-Pyarelal and Rahul Dev Burman. From the 1970s onwards, Lata Mangeshkar
has also staged many concerts in India and abroad, including several charity concerts. Her first
concert overseas was at the Royal Albert Hall, London, in 1974 and was the first Indian to do so. Lata
Mangeshkar has won several awards and honours, including Bharat Ratna (India's Highest Civilian
Award), Padma Bhushan (1969), Padma Vibhushan (1999), Dadasaheb Phalke Award (1989),
Maharashtra Bhushan Award (1997), NTR National Award (1999), Bharat Ratna (2001), Legion of
Honour (2007), ANR National Award (2009), three National Film Awards and 15 Bengal Film
Journalists' Association Awards. She has also won four Filmfare Best Female Playback Awards. In
1969, she made the unusual gesture of giving up the Filmfare Best Female Playback Award, in order
to promote fresh talent. She was later awarded Filmfare Lifetime Achievement Award in 1993 and
Filmfare Special Awards in 1994 and 2004.In 2009, Mangeshkar was awarded the title of Officer of
the French Legion of Honour, France's highest order.

Which of these countries has bestowed the Legion of Honour award to Lata Mangeshkar?
Options:

1) Europe

2) France

3) Germany

4) Italy

Correct Answer: 2) France

Candidate Answer: 2) France
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QID : 684 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

Lata Mangeshkar is an Indian playback singer and music director. She is one of the best-known and
most respected playback singers in India fondly called Nightingale of Bollywood and Melody Queen.
She has recorded songs in over a thousand Hindi films and has sung songs in over thirty-six regional
Indian languages and foreign languages, though primarily in Marathi, Hindi, and Bengali. Lata
Mangeshkar was born in 1929, the eldest daughter of Pandit Deenanath Mangeshkar, a Marathi
musician and his Gujarati wife Shevanti in Indore (today in Madhya Pradesh and then the capital of
the princely state of Indore which was part of the Central India Agency in British India). Her father,
Pandit Deenanath Mangeshkar, was a classical singer and theatre actor. Her mother, Shevanti, a
Gujarati woman from Thalner, Bombay Presidency (now in northwest Maharashtra), was Deenanath's
second wife; his first wife Narmada, who had died, was Shevanti's older sister. She has four siblings—
Meena Khadikar, Asha Bhosle, Usha Mangeshkar, and Hridaynath Mangeshkar—of whom she is the
eldest. On 27 January 1963, against the backdrop of the Sino-Indian War, Mangeshkar sang the
patriotic song "Aye Mere Watan Ke Logo" in the presence of Jawaharlal Nehru, then the Prime
Minister of India. The song, composed by C. Ramchandra and written by Kavi Pradeep, is said to have
brought the Prime Minister to tears. Lata Mangeshkar's most notable songs in the 1970s were
composed by Laxmikant-Pyarelal and Rahul Dev Burman. From the 1970s onwards, Lata Mangeshkar
has also staged many concerts in India and abroad, including several charity concerts. Her first
concert overseas was at the Royal Albert Hall, London, in 1974 and was the first Indian to do so. Lata
Mangeshkar has won several awards and honours, including Bharat Ratna (India's Highest Civilian
Award), Padma Bhushan (1969), Padma Vibhushan (1999), Dadasaheb Phalke Award (1989),
Maharashtra Bhushan Award (1997), NTR National Award (1999), Bharat Ratna (2001), Legion of
Honour (2007), ANR National Award (2009), three National Film Awards and 15 Bengal Film
Journalists' Association Awards. She has also won four Filmfare Best Female Playback Awards. In
1969, she made the unusual gesture of giving up the Filmfare Best Female Playback Award, in order
to promote fresh talent. She was later awarded Filmfare Lifetime Achievement Award in 1993 and
Filmfare Special Awards in 1994 and 2004.In 2009, Mangeshkar was awarded the title of Officer of
the French Legion of Honour, France's highest order.

"Aye Mere Watan Ke Logo" was sung by Lata Mangeshkar against the backdrop of which of these
wars?

Options:

1) Kargil War

2) Cold War

3) Sino-Indian War

4) 1971 war with Pakistan

Correct Answer: 3) Sino-Indian War

Candidate Answer: 3) Sino-Indian War
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QID : 685 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

Lata Mangeshkar is an Indian playback singer and music director. She is one of the best-known and
most respected playback singers in India fondly called Nightingale of Bollywood and Melody Queen.
She has recorded songs in over a thousand Hindi films and has sung songs in over thirty-six regional
Indian languages and foreign languages, though primarily in Marathi, Hindi, and Bengali. Lata
Mangeshkar was born in 1929, the eldest daughter of Pandit Deenanath Mangeshkar, a Marathi
musician and his Gujarati wife Shevanti in Indore (today in Madhya Pradesh and then the capital of
the princely state of Indore which was part of the Central India Agency in British India). Her father,
Pandit Deenanath Mangeshkar, was a classical singer and theatre actor. Her mother, Shevanti, a
Gujarati woman from Thalner, Bombay Presidency (now in northwest Maharashtra), was Deenanath's
second wife; his first wife Narmada, who had died, was Shevanti's older sister. She has four siblings—
Meena Khadikar, Asha Bhosle, Usha Mangeshkar, and Hridaynath Mangeshkar—of whom she is the
eldest. On 27 January 1963, against the backdrop of the Sino-Indian War, Mangeshkar sang the
patriotic song "Aye Mere Watan Ke Logo" in the presence of Jawaharlal Nehru, then the Prime
Minister of India. The song, composed by C. Ramchandra and written by Kavi Pradeep, is said to have
brought the Prime Minister to tears. Lata Mangeshkar's most notable songs in the 1970s were
composed by Laxmikant-Pyarelal and Rahul Dev Burman. From the 1970s onwards, Lata Mangeshkar
has also staged many concerts in India and abroad, including several charity concerts. Her first
concert overseas was at the Royal Albert Hall, London, in 1974 and was the first Indian to do so. Lata
Mangeshkar has won several awards and honours, including Bharat Ratna (India's Highest Civilian
Award), Padma Bhushan (1969), Padma Vibhushan (1999), Dadasaheb Phalke Award (1989),
Maharashtra Bhushan Award (1997), NTR National Award (1999), Bharat Ratna (2001), Legion of
Honour (2007), ANR National Award (2009), three National Film Awards and 15 Bengal Film
Journalists' Association Awards. She has also won four Filmfare Best Female Playback Awards. In
1969, she made the unusual gesture of giving up the Filmfare Best Female Playback Award, in order
to promote fresh talent. She was later awarded Filmfare Lifetime Achievement Award in 1993 and
Filmfare Special Awards in 1994 and 2004.In 2009, Mangeshkar was awarded the title of Officer of
the French Legion of Honour, France's highest order.

Lata Mangeshkar's first concert overseas was at which of these halls?
Options:

1) Royal Opera House

2) Syndney Harbour

3) Royal Albert Hall
4) Royal Victorian Club

Correct Answer: 3) Royal Albert Hall

Candidate Answer: 3) Royal Albert Hall
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QID : 686 - Read the poem carefully and answer the questions that follow choosing the correct
alternatives.

Macavity's a Mystery Cat: he's called the Hidden Paw— For he's the master criminal who can defy the
Law. He's the bafflement of Scotland Yard, the Flying Squad's despair: For when they reach the scene
of crime—Macavity's not there!

Macavity, Macavity, there's no one like Macavity, He's broken every human law, he breaks the law of
gravity. His powers of levitation would make a fakir stare, And when you reach the scene of crime—
Macavity's not there! You may seek him in the basement, you may look up in the air— But | tell you
once and once again, Macavity's not there!

According to the passage,which of these laws has Macavity broken?
Options:

1) law of depravity

2) law of levitation

3) law of gravity

4) law of scotland yard

Correct Answer: 3) law of gravity

Candidate Answer: 3) law of gravity

QID : 687 - Read the poem carefully and answer the questions that follow choosing the correct
alternatives.

Macavity's a Mystery Cat: he's called the Hidden Paw— For he's the master criminal who can defy the
Law. He's the bafflement of Scotland Yard, the Flying Squad's despair: For when they reach the scene
of crime—Macavity's not there!

Macavity, Macavity, there's no one like Macavity, He's broken every human law, he breaks the law of
gravity. His powers of levitation would make a fakir stare, And when you reach the scene of crime—
Macavity's not there! You may seek him in the basement, you may look up in the air— But | tell you
once and once again, Macavity's not there!

From the passage above,select the most appropriate 'one word ' for the expressions given below.
A religious ascetic or mendicant monk commonly considered a wonder-worker.

Options:

1) astronomer

2) fakir

3) detective

4) mystery man

Correct Answer: 2) fakir

Candidate Answer: 4) mystery man
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QID : 688 - Read the poem carefully and answer the questions that follow choosing the correct
alternatives.

Macavity's a Mystery Cat: he's called the Hidden Paw— For he's the master criminal who can defy the
Law. He's the bafflement of Scotland Yard, the Flying Squad's despair: For when they reach the scene
of crime—Macavity's not there!

Macavity, Macavity, there's no one like Macavity, He's broken every human law, he breaks the law of
gravity. His powers of levitation would make a fakir stare, And when you reach the scene of crime—
Macavity's not there! You may seek him in the basement, you may look up in the air— But | tell you
once and once again, Macavity's not there!

According to the passage, who among these does not reach the scene of crime?
Options:

1) the reader

2) scotland yard
3) flying squad
4) fakir

Correct Answer: 4) fakir

Candidate Answer: 3) flying squad

QID : 689 - Read the poem carefully and answer the questions that follow choosing the correct
alternatives.

Macavity's a Mystery Cat: he's called the Hidden Paw— For he's the master criminal who can defy the
Law. He's the bafflement of Scotland Yard, the Flying Squad's despair: For when they reach the scene
of crime—Macavity's not there!

Macavity, Macavity, there's no one like Macavity, He's broken every human law, he breaks the law of
gravity. His powers of levitation would make a fakir stare, And when you reach the scene of crime—
Macavity's not there! You may seek him in the basement, you may look up in the air— But | tell you
once and once again, Macavity's not there!

Select the word that is closest in meaning (SYNONYM) to the word given below.

LEVITATE
Options:

1) demolition
2) ascent

3) demotion
4) motivation

Correct Answer: 2) ascent
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Candidate Answer: 3) demotion

QID : 690 - Read the poem carefully and answer the questions that follow choosing the correct
alternatives.

Macavity's a Mystery Cat: he's called the Hidden Paw— For he's the master criminal who can defy the
Law. He's the bafflement of Scotland Yard, the Flying Squad's despair: For when they reach the scene
of crime—Macavity's not there!

Macavity, Macavity, there's no one like Macavity, He's broken every human law, he breaks the law of
gravity. His powers of levitation would make a fakir stare, And when you reach the scene of crime—
Macavity's not there! You may seek him in the basement, you may look up in the air— But | tell you
once and once again, Macavity's not there!

According to the passage,which of these refers to Macavity ?
Options:

1) Hidden Paw
2) Fakir

3) flying squad
4) mystery man

Correct Answer: 1) Hidden Paw

Candidate Answer: 3) flying squad

QID : 691 - According to Lancelot Hogben, “Mathematics is the mirror of civilization” this statement
corresponds to which value of mathematics?

RIRGG 6RIFIERAA FP6R, "G50 AQIFIR @J8" IR @QeYE EIR 606 FMIA 486 finan?
Options:

1) Social
(e[l

2) Geometrical
RUAGR

3) Disciplinary
sIgame

4) Statistical
a(alagsllalayslay

Correct Answer: 1) Social
AR

Candidate Answer: 1) Social
AR
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QID : 692 - In mathematics, ‘Representation’ refers to

CI6I06R, "deRYQ" Q QBN |

Options:

1) expressing the given data through graphs

AlIga Aldeea doa 084 dwlel @Qg

2) expressing an important geometrical result as a theorem
QAAIRY AIR6R 9@ JREJE MIFDR TRITR JRIS @R

3) expressing the number sequence through geometrical patterns
RIS RAR goe AIIFER 6l @FT gRIs @RQ!I

4) All options are correct

aqg Yaq ade

Correct Answer: 4) All options are correct
aqg Yaq ade

Candidate Answer: 4) All options are correct
aqq dep ade

QID : 693 - is not a contributing factor responsible for mathematics anxiety.

686 QEQEIR ARELICRINT RIAR Q62 |
Options:

1) Nature of subject
QYR geb

2) Examination system
dQNIRQ @YYl

3) Gender

e

4) Syllabus

drieq

Correct Answer: 3) Gender
e

Candidate Answer: 3) Gender
g
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QID : 694 - As per NCF 2005, the goal of teaching mathematics in the school curriculum is to make
children learn ‘Important Mathematics’. Important Mathematics means

NCF 2005 2g4l6Q, @a4Rg, AI0Y9F16a 686 16RR9Ia RAY 6268 g2IFIRG 'geaJél c&ie’ fesdel | 4eqsl
c&ie cller [

Options:

1) understanding the appropriate use of learned mathematical techniques
Sicsineiel CIEioe calsigeaa Jalidel Q1eeiag Qe

2) learning all the geometrical theorems

aag QIFEe QAAIQY Sigel

3) knowing mathematical procedures and algorithms

CIEIOR ARG 9e° 2IRECIRDC RIEa

4) solving mathematical puzzles easily

CIEIoR @ ARKEQ AFIRIR @QQ!

Correct Answer: 1) understanding the appropriate use of learned mathematical techniques
dieeiagQl ClIfioe cnldg@aeq Jalide 4eing Ee!

Candidate Answer: 3) knowing mathematical procedures and algorithms
CIEo® Q80 Ye° 2MEAIAGH RIEQ]

QID : 695 - Which of the following preference is given during the initial stages of teaching
mathematics in primary schools?

dieifie YRR 6180 J6RaQl AR RIRGE 6R60Y dIRIFe IQs QRINY B2l Ag?
Options:

1) Multiplication and Division of numbers
a°giIQ g6l G dQUe!

2) Number identification and counting
QA ARIQ@AE] IQ° 661

3) Measurement of height and weight
QPOI Ie° BRe ARAId

4) Revision of all the math’s formula first
g2Ifl 6EieQ AFg 90 4RF6eR!

Correct Answer: 2) Number identification and counting
QA ARI@QE] JQ° 661!

Candidate Answer: 2) Number identification and counting
QA dRI@QE] \JQ° 66|
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QID : 696 - Arun simplified the given rational number —15/-35 = —3/7. This error can be considered
as

Qe 9ea gage Q°elil —15/-35 = -3/7 daR19Q8 @R IR @6 2dIe6q §6000 @al AIRAIER
Options:

1) Careless error
a6 9o

2) Critical error

Jeea o

3) Procedural error
8066 §F

4) No option is correct
6aleld Gaq O Q6w

Correct Answer: 1) Careless error
2069 9F

Candidate Answer: 3) Procedural error
JA8Ga0 QF

QID : 697 - is not a Problem Solving Strategy in mathematics.

___ 6EioQ aaayl AARINR 6RleiR Q68|
Options:

1) Drawing

dRR

2) Solving backward
a alig dele

3) Rote learning
geig QI8 aRel

4) Trial and error
F0IQ B gF

Correct Answer: 3) Rote learning
gelg IR Qe

Candidate Answer: 2) Solving backward
aQ 2y AelRIe
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QID : 698 - If a child shows much interest to participate in mathematics quiz competition, then what
objective of learning does it indicate?

A8 6ala1d &g 680a QRe JE6LITIRIER 2°6 6RRIA 6Re 2IFe 6R6IN, 6069 YRI IR 606 AEREIE F6ae
@6Q?

Options:

1) Affective
260l AL,

2) Psycho-motor
AIRERI-6£116'Q

3) Deductive

21a @Rl

4) Summative
a6acQ

Correct Answer: 1) Affective
2166l QeI

Candidate Answer: 1) Affective
216Q@6l QeI

QID : 699 - What would be your strategy for addressing the needs of visually challenged learners in an
inclusive mathematics classroom?

6816 QIagrea @ 96901 (AgaIm oYlsme) SRINFAIN 2w 6RIERE @6l 6292
Options:

1) Offer them another subject in lieu of mathematics

6Ei0Q 0RQFa 0If 2198 e Fag f2ig

2) Design alternate teaching-learning and assessment methods
QR fNE-ERIR 9e° RIAR 480 BRIR0 @ag

3) Pair them with high scorers in mathematics

CEeQ QRO 64| a90 eIa GGPI@@

4) Pair them with high scorers of other subjects

2RYIRY FANA AR 641QQ dIefex 0lg 6@I@@

Correct Answer: 2) Design alternate teaching-learning and assessment methods
9aQ ARE-AAIQ 99 AMIAR A8 GRIRR 89Q

Candidate Answer: 4) Pair them with high scorers of other subjects
YR FANQ AR 64/QQ dIefex ole GGPI@Q
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QID : 700 - A student of class VII defined the rectangle as “Rectangle is a quadrilateral whose
opposite sides are parallel and equal”. This definition reflects that the student

VIl 66810 @661 EIZN "2I006A6E Y@ 09Ee IRIQ FANE Fegee AAIRAIR 9e° AfIe” 8AIR6R 2INP6REE
QRO @6Q 921 Q°%I &I JOPRO @6al

Options:

1) does not know the correct properties of the shape

2IQoa a0« 656q4 goe @6l AIE

2) is not able to recognize the shapes

2RIQGEe 096 @heleq A8 gew

3) knows some properties, but missed some important properties to complete the definition
P8 6551 @82l , 6660 AHIG APl @RQIAIR &8 gQEJd 65aqY 816 Gag|

4) No option is correct

6al6ld e A0 Q6w

Correct Answer: 3) knows some properties, but missed some important properties to complete the
definition

P8 6581 @I82Ig , 6660 ARIG APl @RRIAIR &8 gQEqe 65agY 816 Gag|

Candidate Answer: 4) No option is correct
6al61d Saq 0 ged

QID : 701 - Which of the following can be represented as a recurring decimal?
PIRNGEYLNR FER 6006 JRAIQA @6lie 24196a @UYIJE 62RdI6R?

Options:

1)1/2

2)1/8

3)1/3

4)1/5

Correct Answer: 3) 1/3

Candidate Answer: 1) 1/2

QID : 702 - If a™.b" = 3087 where a and b are prime numbers, then what is the value of a + b?

Q6 a™.b" = 3087 60R0I6Q a 4&@° b A Q°6lil, 606@ a + b Q FimY 60667
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Options:
1) 10
2)12

3) 11
4)7

Correct Answer: 1) 10

Candidate Answer: 1) 10

QID: 703 -

Pl =

What is the value of (-\ﬁ 89 — 144 + 7 x 5] ?

1

(ﬂh 69 — 144 + 7 x 5]E Q IG 6R6S7

Options:

Correct Answer: 3) 6

Candidate Answer: 3) 6

QID : 704 - Total surface area of a cube is 864 cm?. What is the value (in cm) of the side of cube?

R Q4QQ 6716 JYR QTR 864 62 | 10Q AIYR Y (69F6R) 69662

Options:

1) 14
2) 12
3) 16
4)18

Correct Answer: 2)g22

Latest Sarkari Jobs, Govt Exam Results,

Vacancies and updates on one click




Candidate Answer: 3) 16

QID : 705 - Twice of the area of a circle is 1232 cm?. What is the diameter (in cm) of circle?
IR QAR 680TRA §g61 1232 6972 | QAQ Q1Ia (69F6R) 60667

Options:

1) 28

2) 14\(\sqrt{2}\)

3)14

4) 21

Correct Answer: 1) 28

Candidate Answer: 2) 14\(\sqrt{2}\)

QID : 706 - Curved surface area of a cone is 440 cm?. If slant height of cone is 8 cm, then what is the
radius (in cm) of cone?

6RIQ Q OF YR 6RQTR 440 6aF? | A0 6RIQ A PE Q ARG 8 638 @, B69 6mIR A QI (62F6R) 6R66?
Options:

1) 21.5

2)14

3)17.5

4)19.5

Correct Answer: 3) 17.5

Candidate Answer: 1) 21.5
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QID : 707 -

. 1 1
What is the value of | 1+ — || 1
atis evaueo(+x2}[+x2+1}

(rrtalrrts)
[“%M“#J[h;@iz](” flSJ

o Flle Emee?

Options:

1) 4x% + (1/x?)

2) 4+ (1/x9)

3) X2 + (4/x?)

4) 1+ (4/x%)

Correct Answer: 4) 1+ (4/x?)

Candidate Answer: 3) x?+ (4/x?)

QID : 708 - If x = 3v3 - 5, then what is the value of [x + (1/x)]?
Q0 x = 3v3 - 5,606 [x + (1/x)] Q AR 6266?

Options:

1) (9V3 + 5)/2

2) (9v3 - 5)/2

3) 6v3 - 10

4)6v3+10

Correct Answer: 2) (9v3 - 5)/2

Candidate Answer: 2) (9v3 - 5)/2
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QID:709-If x=0.5andy = 0.2, then what is the value of v0.4 x (2y)*?
A8 x=0.54Q°y = 0.2 94 606@ V0.4 x (2y)* (IR 6966?

Options:

1)1

2)0.5

3)0.4

4)0.8

Correct Answer: 3) 0.4

Candidate Answer: 4) 0.8

QID:710-1fa=7,b =6 and c = 2, then what is the value of a2 + b2 + ¢ — ab — bc + ca?
Q@a=7,b=699°c =299, 6069 a’+b?+c? - ab - bc +ca Qe 6266?

Options:

4) 53
Correct Answer: 2) 49

Candidate Answer: 2) 49

QID : 711 - What is the reciprocal of [x + (1/x)]?
[x + (1/x)] Q AI0gRR( 60d60IRIN ) FJRY @612
Options:

1) [(1/x) +x]

2) [x/(x + 1)]

3) [x/(x%+ 1)]

4) [x%/(x + 1)]

Correct Answer: 3) [x/(x%+ 1)]

Candidate Answer:
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QID : 712 - Cost price of two articles is Rs 6000 each. If the first article is sold at a profit of 15% and
the other article is sold at a loss of 15%, then what will be the overall profit/loss percentage?

J0 QRE Feeq AMY 6000 6! | gIFl RRAT A8 15% RIN6AR 9e° 2RY FART 15% FG6R A @Y, 6069 AIFFR
AR / VOQ 6101°61 6066 2Q?

Options:

1) 2.25%, profit
2.25%, M@

2) 2.25%, loss
2.25%, 86

3) 4%, loss

4%, 86

4) No profit no loss
Rl AR Q1 A6

Correct Answer: 4) No profit no loss
QAR QI A6

Candidate Answer: 4) No profit no loss
Al R QI A6

QID : 713 - A can do a work in 20 days and B can do the same work in 40 days. If they started the
work together and worked for 5 days, then what fraction of work is left?

A 20 GRQ FRIEA 9@ QIF @Q1 AI6Q IQ° B 40 G0Q FIIER 69R QIFl @1 AI6Q 1 & 64AAIER IRAIGPER QIF
IR @QF \9e° 5 GQ QIFl @AY, 6669 RIFER 6860 2°6I6 QAT QRLS?

Options:
1) 5/8
2) 8/15

3)7/15
4)1/10

Correct Answer: 1) 5/8

Candidate Answer: 4) 1/10

QID:714-If A: B =3:5andB =25, then what is the value of A x B?

ﬂaA:B=3:5\’IQ°B=25gﬂ,6®6@AxBQﬂl96@6®?
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Options:
1) 375
2) 380
3) 275
4) 340

Correct Answer: 1) 375

Candidate Answer: 3) 275

QID : 715 - If X is increased by 20% and then again it is increased by 20%, then by how much
percentage the value of X will be finally increased?

A8 X g 20% Q8 @Al @1 9e° QIA6Q AR 20% QB QA 99, 6660 X Q IR 6618 ALY 6060 6016 Q8
AIRQ?

Options:

1) 44

2) 34

3)20

4) 30

Correct Answer: 1) 44

Candidate Answer: 3) 20

QID:716-1n a A ABC, 2A = 90° and D is mid-point of AC. What is the value of BC2 - BD%?
A ABC 6@, £A = 90° 98° D, AC @ ¢1l @9 1 606@ BC? - BD? Q £ 6@60?

Options:

1) 4AD?

2) 3AD?

3) 2AD?

4) AD?

Correct Answer: 2) 3AD?

Candidate Answer: 4) AD?
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QID: 717 -
In the given figure, CD||AB. What is the value
(in degrees) of y?

Je@ §gea, CD||ABI y @ aIg (G4169) @667

A D

3x

3X 4x y

Options:

1) 54

2) 48

3) 72

4) 60

Correct Answer: 1) 54

Candidate Answer: 4) 60
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QID:718 -

In the given figure, f BC =16 cm, AB=12cm
and AC = 18 cm, then what is the value (in cm)
of DC?

Jaoa £0660, G BC = 16 64f, AB = 12 64§ 4e°
AC = 18 64¢1 84, 6o DCa ¢lig (647i6Q) 6@667

A
50°\0°
B D C

Options:
1)4.8
2)7.2
3)8.4
4)9.6

Correct Answer: 4) 9.6

Candidate Answer: 1) 4.8
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QID:719-

In the given AABC, <A = 90°. If ADLBC, then
which of the following statements is the correct?

do@ AABC 60, £A =90°, 9@ ADLBC 24, 6962
Qelage §9Egda Fuen @8l A0w?

C

Options:

1) AB?=BD x DC

2) ABZ2=BD x AD

3) AB2=BC x DC

4) AB2=BC x BD

Correct Answer: 4) AB?=BC x BD

Candidate Answer: 2) AB?=BD x AD
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QID : 720-
In the given figure, O is the centre of circle, what is
the value (in degrees) of ~BOC?

gea Ge 0984 6@F , /BOCH ¢lie (GE6q) emea?

A

Options:
1) 120
2) 140
3) 160

4) 180
Correct Answer: 2) 140

Candidate Answer: 1) 120

QID : 721 - How simple experiments and directions by teacher can be helpful for students in science
classroom?

SR0q 990 AQIR-PQINI B PEAEIR! ARIR 668608 GRIIR IR @A Q6L ARILR 62R AIER?
Options:

1) Discipline the students

AQITIFQ GHRIeR Fag

2) There is no significance of experiment in the class

Q1960 AR JRY A1

3) Enabling them for self- learning and enhancing their observational skills
OIFQ I-H8IQ AR 9e° Qlerq Ad6QRE @F6! @EQ Alsl AVC @R

4) No option is correct

61610 Gap a0 g6
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Correct Answer: 3) Enabling them for self- learning and enhancing their observational skills
OIFQ I-H8IQ AR 9e° Qleq Ad6QE QYS! @EQ dlel AVF @R

Candidate Answer: 1) Discipline the students
AQITIFQ GHRIeR Fag

QID : 722 - What is the primary aim of performing hands on activities and projects as an integral part
of learning science?

QRIe S6sine! 66166 AR6RY ek BAIRER AT IQ° JRRYLR FARIER Y8 JIIFie A K&l 266 ?
Options:

1) Keeping the students engaged all the time

daighiwa adel Qig aeig

2) Assessing the students on practical skills

QeI /IR AU6A ENINA RiINe @S

3) Providing opportunity to students for extended learning
fQlghea 9aite daIe AR gedisl 4oIR @Rl

4) Maintaining discipline in the laboratory

dQINIGIR JEFRI Q@ERH QG

Correct Answer: 3) Providing opportunity to students for extended learning
ffIghea 9aite SaIe AR gedisl 4oIe @Rl

Candidate Answer: 4) Maintaining discipline in the laboratory
dQINIGIR GEPRI Q@ERR QG

QID : 723 - What is considered as a key to make science learning more effective?

RIe Gg 2R IAIQT RRQI dI @8l IR 018 Q6Q B6RERI ARULIN?
Options:

1) Connect the teaching with real-life
dQeg AIe-R19AQ 920 A°Yg Aag
2) Story telling

g @@al

3) Rote learning

gelq @11 Sigel

4) Puzzles

QI

Correct Answer: 1) Connect the teaching with real-life
fRI0q Q1ge-0100Q 986 Q°ge @ag
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Candidate Answer: 1) Connect the teaching with real-life
dRI8g QIgQ-19Ra 920 A°g] g

QID : 724 - To show ‘how water effects the germination of seeds’, a science teacher asked the
students to soak bean seeds on a bed of cotton wool for a few days and observe the changes. What
is the guideline that she forgot to mention?

PAR I8 19Q AFEAURGIFG JRAUFE R6Q O1 6REIRI IR, P66 AR Y EQIgg @8 0 AR 4ol @Je! 6
§Q(@Q) A8 QUIRAYS! 1e° ARRERgRe JJ6eRE @RI Q2F | 64 /8l Q6RY KRRy QR JIRSE ?

Options:

1) To place many seeds on wet cotton
(30! RJQ! QU6R 26Re 18 Qﬁ@

2) To place few seeds on wet cotton
601 200 QJER AR A8 Qslg

3) To place many seeds on dry cotton
gJoiml @del QJ6Q 2ehe & QG@

4) To place few seeds on dry cotton
geifl *O0I QaeR AR A8 Qsig

Correct Answer: 2) To place few seeds on wet cotton
GQl @del 6 2 213 QQ@

Candidate Answer: 2) To place few seeds on wet cotton
BQl @del A6 2 213 QG@

QID : 725 - Which of the following techniques will not be recommended for the science teachers while
teaching science in the classroom?

66ERR6Q AFIR QARSI AFNER HIER FNRQ AR PERYE 6R6l 6RldRG AAQI JAIRE 66 Q627
Options:

1) Take a test to know about previous knowledge of students

aigiwa IQd] fie AMFEq QIEQI di6 6666 ARSI RaQ

2) Use manipulative materials for explaining the concepts

AREIQ @4IEH PRRIQ AR FHIPYRTR AARAEIYHR Q4Q2IQ AAg

3) While introducing a complex concept, ask only open — ended questions to stimulate thinking of
students

R QTR UG FAAER @2 AFKER, FAILNA FRIRINR AR1IRIA it 6AeR AgY JF AR

4) All options are correct

aqg Yaq ade

Correct Answer: 2) Use manipulative materials for explaining the concepts
AREIQ Q46 GAQIQ A6l FHIRYRTR AARASIPER Q1QRIQ Aag
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Candidate Answer: 3) While introducing a complex concept, ask only open — ended questions to
stimulate thinking of students
R 6T RS AaA6R @26 AFA6E, SAIA OgIRIRR! ATIRIA Ak 6207 AgY dF A9IRg

QID : 726 - A teacher is planning an educational tour for children of class VIl to Rajasthan. What
should be the expectation of teacher from the students?

@661 AR AYF 666IQ ARIFIRG il URYRER 6666 FIRIRR QA6 @ JARpR! @aef | daIda OIg daea
JdoMIsl @61 6201 QEG?

Options:

1) They should rejoice

647162 2P KRR AFR

2) They should not raise any question

67160 6a161d g6 A0IAQI QG0 g6R

3) There should be pin drop silence on the trip

QIQI AANEQ A°Yg] F1RQG! AR QFE

4) They should observe carefully and share their observation with other children and teachers
647160 QIRURG! A2 AT6RAE FRR! AP 1e° FIFQ AN6RAEIT 2rY INIFING Ie° e

a2 GQIRe PACRSI QFe

Correct Answer: 4) They should observe carefully and share their observation with other children
and teachers

6271160 AINRURG! A2 AT6RAE FAR! AP 1e° IFQ AT6RIEIT 204 TRIFING Ie° e

de QQIRR FAERRI G

Candidate Answer: 4) They should observe carefully and share their observation with other children
and teachers

64C1I6R IQUIRG! d@ JT6RRE AR QD6 Y9° IFa AJ6RREE 2RY ARIFINE 1e° Sanea

de QQeR @AERQI QEE

QID : 727 - As a science teacher what kind of understanding we get while doing diagnostic tests in
science?

@661 ARIQ SING DAIR6Q, IRREA QIATIRTR AN @EQ! AFNER 2I6F @4l Q8! AIRAIR?
Options:

1) How wise the students are?

gimIenelen 6a6e QRAIN?

2) How recurrence helps the student?

JraIQE AR 2199 ARG F6a?

3) The difficulties faced by students in studying science
ARIe 2AUAR6R ERIENG 60R 2GR 6208

4) No option is correct

6aleld Qag a0e g6

Latest Sarkari Jobs, Govt Exam Results,

Vacancies and updates on one click




Correct Answer: 3) The difficulties faced by students in studying science
ARIe 2AUAR6R ERING 60 2GR 6208

Candidate Answer: 4) No option is correct
6aleld Yag a0e g6

QID : 728 - What is the primary purpose of making science museum in elementary school?

JIofie AURA6R ARIe R G2IR @RI JI2Ifie Q6 @612
Options:

1) Giving the opportunity to learn lessons quickly

g@ 6Q6l66 dIOY aGiQIQ ge4diol 6@l

2) Providing education opportunities

GRIQ geaiel 9ele @QQ!

3) Adopting habit of observation and collection in students
AR1Ea Fu6a AT6RAE \Q° A°gea QYA g6 faIRQI

4) Saving money in teaching of science

AREQ AR AR 28] 99, KRR

Correct Answer: 3) Adopting habit of observation and collection in students
SiRIewa Ful6q Ad6RAE! 9e° 2°gea JIF g8 @RS

Candidate Answer: 3) Adopting habit of observation and collection in students
SRS F1u6a AT6QRE IQ° AR JQUId gR8 @RS

QID : 729 - Which of the following is not an aim of teaching science at upper primary level?

QR a6 & Qe Jeifie gasa @RIeq AdIoYLIna Al 962?
Options:

1) Raising curiosity about the natural and social environment

JR0e ¥e° ARG AR6RE AMRER 64102R QAR

2) Assimilating values that concern the life and the environment

@190 Ie° JR6RE QEQEl 606 R 2R

3) To engage the students in the practical and research activities

GQlehe Q1e21A@ Ie° 66Ra6l QINeF6a R0 Qge

4) The burden of learning vocabulary and definitions for children’s assessment

ARFIRFA ARILRR AIE SLQIER 9e° 2R Jisl 9

Correct Answer: 4) The burden of learning vocabulary and definitions for children’s assessment
JRAIPFR GMINRQ AIel SRQIEIR 9e° Q°FI &dl 98

Candidate Answer: 1) Raising curiosity about the natural and social environment
d90e 9e° AfiRe dfseg daeea caloon Qoldo
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QID : 730 - Which of the following is the main feature of assessment in science?

o

0F1Q 6366 ARIRQ ARIIARQ QIR 6GEYY?
Options:

1) It is organised at the end of the year

2| F6Q! 66186Q AR Fal @9

2) It is diagnostic in nature

2! 9Qoa Qlealealnge

3) The purpose of enhancing experimental skills

AP QYO Q@Q QELS

4) The purpose of developing a scientific approach among students
GRITNFQ FIER 6FRIRR IR0 IR AEREY

Correct Answer: 2) It is diagnostic in nature
N2l gQ0a Gledlealde

Candidate Answer: 4) The purpose of developing a scientific approach among students
GRITNFQ FIER 6ARIRR IR0 IR AERE

QID : 731 - Which method of separation would you use to separate a mixture of salt and water?

RQE 9e° JIEIQ Figél Q2R @RQI 218 606 JARIRREA IREE QIQLIQ fRER?
Options:

1) Evaporation
AIRQE

2) Sublimation
agenae

3) Sedimentation
6aG6r68an

4) Decantation
oRlereae

Correct Answer: 1) Evaporation
QFIaael

Candidate Answer: 1) Evaporation
QYIRS
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QID : 732 - Which of the following metals is most likely to displace iron (Fe?*) in ferrous sulphate
solution?

ROMYe UQA FIER 6REIE 6XPAL AMETES §REl 62 2IRAR (Fe?*) Q FINQIS FEQIR AR AQOIQ 6987
Options:

1) Copper
ogl

2) Lead
aal

3) Zinc
ogl

4) Mercury
dIe

Correct Answer: 3) Zinc
egl

Candidate Answer: 1) Copper
el

QID : 733 - Sulphur is present in which amino acid?

ARTA 606! AIPN6R! IEe 6a AAF?
Options:

1) Cysteine

aq0

2) Alanine
QYR (RINRIRR)
3) Lysine

ARAR

4) Valine

IR

Correct Answer: 1) Cysteine
g0

Candidate Answer: 4) Valine
IR

QID : 734 - Which of the following process is responsible for advance sunrise and delayed sunset?

2igal gedieg, ¥e° ande qdiq din AREe 66 Jol QN2Ies ?
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Options:

1) Atmospheric reflection
QIYAIER1L, 46RY

2) Multiple reflection
RR)e 9699

3) Dispersion

oty

4) Atmospheric Refraction
QYAIER1A, 9OaQ8!

Correct Answer: 4) Atmospheric Refraction
QIYAERIL 4OARE!

Candidate Answer: 4) Atmospheric Refraction
QYR 908!

QID : 735 - Which of the following elements is NOT a metalloid?

ROREO QUIRINQ FIIER 6a6E IO ARIE Q627?
Options:

1) Borane
61

2) Sodium
616

3) Antimony
A6

4) Silicon
a[alala)

Correct Answer: 2) Sodium
621G

Candidate Answer: 3) Antimony
e

QID : 736 - Which chemist is credited with the discovery of Neutrons?

RRge 20gaa AR 686 QAINNRRg QO B2l @92
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Options:

1) J. Chadwick

6@. QIPVWE

2) Neils Bohr

QM 6QIA

3) J.J. Thomson
6@.6. 24

4) Ernest Rutherford
265 QUGS

Correct Answer: 1) J. Chadwick
66. PP

Candidate Answer: 1) J. Chadwick
66. PR

QID : 737 - Isotope of which element is used in treatment of Goitre?

CIRGIE] (6INMEQ) FRYI dinl AIRCAIESIAR 696! AUIRINTY QLIQ AU §9?
Options:

1) Uranium
lelsalalale]
2) Cobalt
6R1QIR

3) lodine
2GR

4) Carbon
Qe

Correct Answer: 3) lodine
pl[alcizla)

Candidate Answer: 3) lodine
2RGCER

QID : 738 - Which of the following elements is polyatomic in nature?

QOREe QUIRIRA FIER @6l JeF6a AREIECIEATR?
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Options:

1) Argon

aidie

2) Sulphur

dma

3) Helium

el

4) No option is correct
6al6ld Qe a0 g6

Correct Answer: 2) Sulphur
a[alaga

Candidate Answer: 2) Sulphur
(e

QID : 739 - Which connective tissue is found between skin and muscles, around blood vessels, nerves
and in bone marrow?

Q0! 9Q° 6QEIGRA FIIER, AYRINIGPRA SIRAIFER, Qg ¥e° 2T FAQIER 696 A°gf 694 AR 2N ?
Options:

1) Cartilage
0QeIg

2) Adipose tissue
G6aId §q

3) Tendons
cERd

4) Areolar
QG

Correct Answer: 4) Areolar
RGARA

Candidate Answer: 2) Adipose tissue
4G6aIa 6

QID : 740 - Deficiency of which mineral causes scurvy in human beings?

606 BERTR AQIQ FIRS FI6a GEl 9F @6a?
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Options:

1) Vitamin A
QeIde A
2) Vitamin C
Qelfie C
3) Vitamin B
QeIfe B
4) Vitamin D
QeIfie D

Correct Answer: 2) Vitamin C
QeIfe C

Candidate Answer: 2) Vitamin C
QeIfe C

QID : 741 - Heating effect of electric current across an iron rod increases with

66166 Q@I Qe FIIER 65Q10R JRIeQ feA dale _____ d@6 Q8 AN |
Options:

1) increasing voltage

6al6Re Q8

2) decreasing voltage

culeRe Q19

3) increasing cross sectional area of rod
Qea 2gdg (99) QUGG 680 Q Q8

4) decreasing length of rod

Qe Q 6GdY @I

Correct Answer: 1) increasing voltage
6RUERR QB

Candidate Answer: 4) decreasing length of rod
Qe @ 6GdY @I

QID : 742 - Gravitational Force between two objects decreases with

9at Qga FIrI6A ARIRAIL 617 Q 996 Q19 ANI
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Options:

1) increasing distance between two objects
Qa6 ega Fled QaQ A Q&

2) decreasing distance between two objects
Qa6 9ga FI6x QQp 9

3) increasing masses of both the objects
Qe 9ga a1a g8

4) increasing mass of any one object

6aled I@ 0GR AU QF

Correct Answer: 1) increasing distance between two objects
Qa6 ega Fle QaQ A 98

Candidate Answer: 1) increasing distance between two objects
Qa6 ega Fled QaQ A 98

QID : 743 - S.1. Unit of pressure is .

S.1.odQYeas
Options:

1) Joule
2R

2) Newton
PReR

3) Pascal
aYldeam
4) Watt
gle'

Correct Answer: 3) Pascal
ajldeam

Candidate Answer: 4) Watt
gle'

QID : 744 - Lactometers used to determine purity of milk, are based on which principle?

QI RO NIREIQ AR Q1996 RUIRECIAGIR 686 2160 QU6R KA F6a1?
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Options:

1) Bernoulli’s Principle
Q6RIRQ RS

2) Calvin’s Principle
AUIRRANQ ARRTE

3) Archimedes'’s Principle
ARFLR RS

4) Newton’s Principle
AAce Q RATe

Correct Answer: 3) Archimedes’s Principle

2RACAQ RaE

Candidate Answer: 2) Calvin's Principle
MPARQ RR1E

QID : 745 - The Resistance of an iron rod is R. If the length of the rod is increased by 4 times, then the
resistance of the new rod is

66166 RRIA QEQ 6aRYQ RI U0 QeQ 6344 4 g6l QF @l @9 6069 g2l AEQ JosaN vl
Options:

1) 4R
2) 2R
3) 8R
4) 10R

Correct Answer: 1) 4R

Candidate Answer: 1) 4R

QID : 746 - Which is not a part of female reproductive system in human beings?

@6 FINQ 6096 AR AR QY 2P Q627
Options:

1) Cervix
GIM6QE

2) Ovary
e,

3) Uterus
Al

4) Urethra
IR
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Correct Answer: 4) Urethra
ferim

Candidate Answer: 1) Cervix
GIMEQE

QID : 747 - The process of ‘Spore formation’ can be seen in which of the following?

‘RIFHOR’ IRAUT RIRYS 696 66l AN?
Options:

1) Bryophyllum
Q6AIAF Qe

2) Rhizopus
Spage

3) Planaria
qiegal

4) Hydra

RQ!

Correct Answer: 2) Rhizopus
Seaqe

Candidate Answer: 4) Hydra
RQ!

QID : 748 - Which gas produces a pop sound when brought near a flame?

6R4 G119, Hsia AISlIAIY 2Id6m 66166 A 60 QY §9?
Options:

1) Nitrogen
RIRECI6RR
2) Sulphur
ol

3) Hydrogen
Qe

4) Carbon
e

Correct Answer: 3) Hydrogen
QQIe

Candidate Answer: 4) Carbon
Qe
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QID : 749 - Chemical name of Plaster of Paris is

e A QIRAQ AAARS e
Options:

1) Calcium Sulphate

MR AIRECTS

2) Copper Sulphate

@dIQ diR6ere

3) Calcium Sulphate Hemihydrate
RUIRAN AR 62FIRGRE

4) Copper Sulphate Hemihydrate
PUIQ ARETE 62012IRELE

Correct Answer: 3) Calcium Sulphate Hemihydrate
MIREAIA ARETS 627121R686

Candidate Answer: 1) Calcium Sulphate
MR AIR6TS

QID : 750 - When the position of an object is at infinity, then what is the size of an image formed by a
convex mirror?

646Q 6@Q Q%Q 2edle 2d1el 9N, 606Q Qaw oda QI 61006 Y@ 50 2RIQ @6l 62Q ?
Options:

1) Same as size of object
Q%Q NI BAIQ6Q ACNR

2) Point Size

QNG 2RIQ

3) Half the Size of object
Q%Q 2RI 2RI

4) Double the size of object
ega 2RI Ggél

Correct Answer: 2) Point Size
aNg AR

Candidate Answer: 4) Double the size of object
ega 2RI §gel
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